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Concept CW_ Grade-3 Addition and Subtraction

Solve One step problem on addition of 4-digit numbers

Q1) A man plucked 4,735 mangoes from one tree, 4,530
mangoes from the second tree and 2,915 mangoes from
the third tree. Find the total number of mangoes plucked
from the trees.

Q2) In a school there are the following numbers of
students: 8,127 in grade one, 5,764 in grade two, 1,120
in grade three, 6,645 in grade four and 93 in grade five.
Find the total number of students in the school.

Q3) In an examination, 5,236 students passed and
4,892 students failed. Find how many students
appeared for the examination.
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Q4) There are 3,786 men, 3,672 women and 1,508
children in a village. Find the total population of the
village.

Q5) A school library has 3,730 books in French, 2,531
books in English, and 5,368 books in other languages.
How many books are there in library?

Q6) There are 7,536 bags of wheat, 5,380 bags of rice
and 5,240 bags of gram in a store. Find the total number
of bags in the store.
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